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Q. 2) Which number among 34936, 35508, 35580 and
36508 is divisible by 33? |
34936, 35508, 35580 3fY 36508 H & HI4-Wl ¥@M 33 |

[22 ] Ad) 34936 < 5
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Q. 3) Pass percentage of an examination is 35%. If a
student who got 210 marks, failed by 14 marks, then
what are the maUimum marks of the examination?

TP G § Il ufawd 35% &1 afe 210 3@ W s
9TdT UP BTF 14 B A <0 g e 8, af THan &
Aftrean s |2

(a) 600 b) 660
@620
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Q. 5) A dealer's cost price for each fan he would like to
sell is Rs. 2000. After allowing a discount of 20% on its

marked price, he gains 20%. His marked price of the fan

iS:

U® SR & fore e U@ &1 %9 99 2,000 ¥ ¢, g 9
a9 98T B aﬁﬁéwzoeeaﬁqmﬁ%m, 20% BT
ATH YT AT 8| U@ &1 sifehd g g1 91fRe?

CPp m P a) Rs. 5000 (b) Rs. 2500
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Q. 6) A sum of Rs. 30000 becomes Rs. 38400 after being
invested at a simple interest of 8% per annum in how

many years?
8%%’taﬁ$mwma?wﬁ%mﬁﬂ'§3o,ooo¢ﬁ
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Q. 7) The average monthly income of the father and
mother is Rs. 5,000. The average monthly income of the
mother and her son is Rs. 6,000. The average monthly
income of the father and his son is Rs. 10,000. Find the

monthly income (in Rs.) of the father.

ﬁmamumaﬁaﬁmmﬁasmsoooxéumah?
I AT 3N AR 31T 6,000 & g1 T 3R IqP
U7 3 g HIR® ST 10,000 ¥ 21 T 3 e

Hiforg |
el = 10,00 E% (b) 8000

(c) 12000 (d) 10000
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Q. 8) X, Y and Z completed a work costing Rs. 3,400. X
worked for 5 days, Y for 7 days and Z for 10 days. If their
daily wages are in the ratio of 4 : 5 : 3, how much amount
will be received by X?

X, Y 3R Z 7 3,400 ¥ P! AT 9161 TS &1 W1 fpan x A
5 fa7 & forg, v 4 7 Ra & Riw sk z 310 &9 & fog ord
far afg St PP weigit 4:5: 3 P U A B, A X
& fpa-t A ura gz

2 (a) Rs. 700
(b) Rs. 900
10D
(d) Rs. 600
N
30 = R Uo
250
X\b = %q,._vg.
R5-
‘250 -
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Q. 9) Pipe A can fill a tank in 12 minutes; pipe B can fill it
in 18 minutes, while pipe C can empty the full tank in 36
minutes. If all the pipes are opened simultaneously, how
much time will it take to fill the empty tank completely?

UIsY A U ¢l 31 12 e & 4R 9oa1 29 UISU B 39 18
fie & WX gFar 8, Wafe ursy ¢ It i g% <Pl B 36
fire & @relt ®Y G@dr 1 afe it uredl & ve |91y @
m af @rell Pl B QR avg WA | fHaar 9wy

(a) 7 minutes 30 seconds

b) 10 minutes
(d) 6 minutes
RX .
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Q. 10) Ram rides at the rate of 36 km/hr but stops for
five minutes to take a drink at the end of every 10 km.
Find the time that Ram will take to cover a distance of 84

km.
I 36 km/hr B 9T | TSI TATAT & AfbT AP 10 km

& 3 # 9y 1A & forw uig fise soar g1 yra & f 3w

B 84 km DI X 99 B34 H fHa=r I0g &M
(b) 60 minutes
C J minutes (d) 120 minutes
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Q. 11) A boat’s speed in still water is 45 km/h, while the
river is flowing at a speed of 15 km/h. The time taken to
cover a certain distance upstream is 9 h more than the
time taken to cover the same. distance downstream. Find

the distance (in km).

od # S 19 B! 919 45 k ﬁﬂﬁﬂﬁﬁwkm/h
ﬁmﬁgw lum%?ﬁ%a%m a»-r—?ﬁ
aﬂﬁﬁmm URT & fe=m wma'ﬂau

D D : o
— — > 1 9u%arf§w%|§'ﬂ(k ) Bt T FI |
<2 -2 .9 ?

(d) 450
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Q. 12) The ratio of the speed of a motorboat to that of
the current of water is 31: 6. The motorboat starts from a
point and covers a certain distance along the current in 4
h 10 min. Find the time taken by the motorboat to come
back to its initial point.

U® Hicxdle @t 91d R od $_YURT 3| 91d BT 31
| : 6 g1 Hiexale Us fag & Y= gl g sk 4 6 10 o
& 1w URT & ¢ g gl 99 BYdl g1 Hievale gRI
| 34 fdg W amuy o H# @A ¥HY ¥
S B NG Fre|

(a)4 h 10 min
Q — (b) 5 h 10 min

‘ c) 5 h 50 min
Sp- % &
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Q. 13) If(x——) 6, and x > 0, find the value of

(¥ -3)
afe (x-2) =68 M x> 08, @ (x2 - %) FTAAFIE
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Q. 15) What is the value of sec” 4 — tan” A?

sec® A —tan” AET'HF{W%?

(a)0
(b)cotzA
N
MOty ) (d) sin® A

Ge?o- (s |
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cos 41 sin 51
Q 1 6) Find the value Of sin 49 cos 39
cos41 sin51

sin 49 cos39$rl:":|’a.'a’$¥I

(c) 3
(d)

3+ O
Ceé\ LA
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Q. 17) A vertical pole of 28 m height casts a 19.2 m long
shadow. At the same time, find the length of the shadow

cast by another £ole of 52.5 m height. .
28 HIcY HUIE & UP HEIR @ DI ST HI dars 19.2

Hex 21 I 9HY UX 52.5 Hiey HAE & TP 39 @™ B
$1 AT maﬁj

(b) 35m
(c) 40m
| (d) 30m
23 2
" ALY
s —
A9 LR
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Q. 18) AABC ~ APQR, ar(AABC) = 16 cm? and ar (APQR) =
25 cm If BC = 20 cm, then QR is equal to :

%pqaa}awa(mc 16 cm? 3iX = ahw APQR) =
25 cm?

1 gfE BC =20 em &, 9 QR

a) 15 cm (b) 10 cm
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Q

Q. 19) A 15 cm long perpendicular is drawn from the
centre of a circle to a 40 cm long chord. Find the

diameter of the circle.

UP g9 & $g A 40 cm T4l SGT G UPH 15 cm @4l &9
ﬁ%%lﬁﬂ%ﬂﬂﬁ&ﬂﬁm .
(a) 52 cm

b) 48 cm
(c) 50 cm
) £ cm

N = As

D= Qs = S\)cry
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Q. 20) In a A ABC,DE | BC, where D is a point on AB
and E is a point on AC. If DE divides the area of A ABC

into two equal parts then DB:AB |s ual to:
U® A ABC ¥, DE|| BC, 9@l D,AB WY U& fdg E,AC

W 2 of2 & aﬁa’lmwﬁﬁ
ity a’ngBA:g(f:ﬁv 2 fons R

(a) vV2:V3 2:2 +1

e
(J=-1) 54”
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Q. 21) In a right-angle triangle, the hypotenuse is 5 cm
and the base is 3 cm. If one anlge is 6, then tan® is equal

to:
THBI H# 0l 5 cm 3R YR cm?lﬂﬁ
%%,a’ltanﬁe??m ...... S .2l . -

(b) 5/3
(c) 3/5
(d) 5/4
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Q. 22) The width of a rectangle is 2 m less than its length.
If the perimeter of the rectangle is 68 m, then what is the

length (in metres) of the rectangle?

C3| . DI Hew
%ﬂ“mfﬁm gLt gh L g

a 20
Cc) 1€
Roct - p (d) 17
Prmd W = w(Lrey By
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Q. 23) The length, breadth and height of a cuboid are in
the ratio 1: 2 : 3. The length, breadth and height of the
cuboid are increased by 200%, 300% and 300%,
respectively. Then compared to the original volume, the
increase in the volume of the cuboid. will be:
U YT D @48, SIS MY HATS BT [UTd 1: 2: 3
1Y P 4TS, a\% $aTg # HUA: 200%, 300%
Culooid v = Lxbyh ooesag %lqamaﬁgamﬁmai

Vi ) et
~ _x 3= X (d) 15 times

(c) 17 times

Vo > 3 _L (
3 KA 'ée ‘\OQ‘\M\/*(
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Q. 24) The following pie charts show the data of the
os comache . ~igedmoney PUINSE St = 55w number of appeared and passed students of class 12 in

sg 42 10% 20w sections A, B, C, D and E.

o g urg a1 ®&m 12 F ARH A, B, €, D 3R E # IRy«
3 Il BT 3t WS P13t G 2

What is the percentage of students who appeared for

the exam in sectionaﬁ.q%g‘r?r'ect to one decimal place)?

Ao E 7 gdtan | ol &1 ufawd 1 8 (SHad

& 91¢ UD 3@ dd) ?

(a) 29.1% (b) 16.8%

s (c) 18.2% (d) 16.1%

T

E.\D’ —
\/ 4]’,% bke S)@

V M&, (/{WU«{I\»P
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Q. 25) Study the given table carefully and answer the following
question.

The table shows the percentage of students of four departments
Mechanical, Civil, Computer Science and Applied with each student
being in only one department. The table also shows the number of
students of these four departments in five difference colleges, with the
total number of students being 2080. &t 1§ arfereT &1 AT
iford 3R FPrafafea gy o1 3w v’

aifereT R faum Asfea, Rifa, WWWtﬁaﬁu’f
&1 fawra gufdt 31 e faendf Faa = # g1 aiferer # Ui
3elTT- e HgTaenedl # 39 aR faurh & fenfiat <t wen +f gl
¢ g, foraw faenfiat @t 3@ S=m 2080 81

If the number of students in IIT bomaby is 20% less than the number of
students in IIT Madras, then what is the difference between the total
number of students who study in the Applied department in these two
collegesv and that of the students who study in the Civil department in
these tow colleges?

afe ara # Renffal & d@=n e § faenffat #t

S Sy b 1 O 7RG s o
qH<1 HIT

it e Tl ot Vo b B oY ket ot 9

(a) 106 (b) 206 (c) 116 (d) 126




